Jooooobogoong =Ts
Joood oooooo ood

Last update: 2007/7/19

010

p.10, -1.8 O0O0OO0ODOOO0 = 00 x+y+2z=1000000
d d

p.11, T;”:—T(s)ez(s) N %:—T(s)ez(s)

rx—1 z—3
p.l2, [00O0O] 00110 00 z—1=y—2=2-3 = 0O T:y—Qz 5

p.12, [0000] OO0 111 2?2 +y?’ =1, 2+y+z=1. = 2o0+2z-22°>-2xz=1, 2+y+z=1.

020

p-24, 1.7DDD%DDDDD = 000100000

p.28, 1.8 (a+bi+cj)?“="a% —b% — c? + 2abi + 2ac + 2bcij
= (a+bi+cj)?“="a%—b* -+ 2abi + 2acj + 2bcij

p.28, 110 (a? 4 b? 4+ )2« ="(a? — b%> — ) + (2ab)? + (2ac)? + (2bc)?
= (a2 4+ b2+ )24 ="(a? - b — )2 + (2ab)? + (2ac)?

p-33, 112G ="g1,92,93),F' = = G=%g1,92,03),G =

p.34, 1.2 ~ 17

—h1(y1,y2,y3) = fo(—x1, =22, —3) f3(—21, =22, —23) — f3(—w1, =22, —23) fo (=21, —T2, —3)
*h2(yla92,y3) = fs(*xla —T2, *$3)f1(*$1, —T2, *ws) - f1(*$1, —I2, *xs)f?a(*xl, —T2, *$3)

—h3(y1,Y2,y3) = fi(—z1, —x2, —23) fo(—x1, =22, —23) — fo(—x1, —x2, —23) f1(—21, —22, —x3)

=

—hl(y1,y2,y3) = fz(—xl, —T2, —$3)f§(—$1, —T2, —3”3) - f3(—$17 —I2, —xs)fé(—wh —T2, —$3)
_hZ(yh Y2, y3) = f3(_(E1, —Z2, _x3)f{(_x1a —Z2, _333) - fl(_xla —Z2, _$3)fé(_mla —Z2, _(ES)

—h3(y1,Y2,y3) = f1(—x1, —x2, —x3) fo(—x1, —22, —23) — fo(—21, —2, —x3) f1(—1, —T2, —23)

030
pA40, 161 :=2L = j.=dr
p.43, 1.8 dr =r'(—sinf,cosf,1), |dr|=+2rdd 0000
= dr=r!(—sinf,cos0,1)df, |dr|=+/2rdf (r>0)0000
b rq(z) Jé) b (@) 9
p45, -14 [, fdz = [, f;(z) (_a%) dy = [ofde= [, (f;(z) (—8—£> dy) dx
p.45, -13,-1.2 [, %dmdy = [ %dwdy
p.5bl, -2 :O0000OD0O0O0OOODOO0O = costO0O0ODO 200000

040

pb5, -4 0 1) 000000 OOO0O0O0OO00OU0OOO0O0O0O0OOOUOOOOO0O0OOOOOOOOO
= Q(0000000000O0O0O0O00O0000O000obo0

p.b7, ILb OOOO0OODOO0O = 000020000



Or Or Or Or
. oood p— — - il
p-5T, Pou +q3u - Py +q8v
Or Or Or Or
. oooo o0 —, O0d — oo — —
p-58, ou’ w v’ oo ou
p.60, 1.8 Dg goooooog = [lg gooooooo
or|,_, dt|,_,
oF oF oF
p637 1.8 J(F)a = (au(u(hv(h 0)7 aiu(uofv()u 0)7 alU(UO7’UO7O))
OF OF OF
= J(F)ll = <8u(u07 ’UQ,O), %(UO,’U(MO)a 87’10(“07’00’ 0))

p.63, .10 OOOOODOOOODOOOOODOOOO
= (0O0000bOoobooboboboobooobdg

p65, 1.2 c'O00O f,hO0 = (C'000 ¢g,h0O

dg | 0Og dg g dg g
.65, 1.b —= — A== 2 )2 = 22\ =
b9, Ox Ox 0 Ay Aay 0, 0z )\32 0
o9 Son_ "oy Son_ "oy Ton

Ox or oy oy 0z dz
JF Og dg OF 0Og dg OF Og dg
p-65. dr  Ox )\833’ Oy Oy )\83/7 0z 0z )\82
OF g Oh OF g Oh OF g Oh

dx  9xr "9x oy oy "0y 9z 0z "0z

050
P71, 11,12 J(F) - (Au)er = (Au)J(Fey = (Au)' [2, 8], J(F) - (Av)e, = (Av)* |2, 5]
= J(F)-(Awe; = (Au)J(F)e; = (Au) ' [22,20], J(F)-(Av)es = (M) (F)es = (Av) ' |2, 2]

p.72, 15 (1400 (v)O0OOOOO) = (140 p600 (v)ODODOOOO)

gu  Du % O ou  Ou
s 5l =leml | B 8]~ BR-ER) | E ]

75 llla—xxa—x—a(u’v) %xa—i = %X%_é(u,v) %xax
P09 220 9u " a0 T d(a,0) \oa 99 aa " 95 9(a,0) \du v
Ny, z) O(z,z) O(z,y) ox ox troy,z) 0(z,x) O(z,y)
76, 1. ox ox _
p-76, 1.5 [8(u,v)’ A(u,v)’ 6(u,v)} ~ o (u,0) X v (u,v) {a(u,v)’ A(u,v)” d(u, v)}
27 27 1
p.77, -1.3 ... = 2/ cos? 0 sin® 9d9/ dz = .= 2/ cos? 0 sin? 9d9/ dz
0 Ss 0 -1
1 1 1 0
p-80, 1.2 0 X 0 = 0 X 1
2x 2y 2x 2y

060

t (00 Of af 80 t (00 8§ Of 90
.84, 1. _— =, ===, ... —_— =, == = ...
p-84, 15 <8y 0z 0z Oz’ ) = <3y 0z’ 9z 0z’

1 w/2
p-85, 1.4, L5 / F-dr:/xdrzo,---/ F-dr:/ ydf =0
C3 0 Cy 0

1 /2
= - F'dr:/xdr:0,~~ F-dr:/ ydf =0
Cs 0 Cy 0

p87, L1 ((J(F)p, —'J(F)p,)-a)-b = ((J(F)p, —'J(F)p,)a) b
p93, 11 150000 = 140 p700 (ii)000
p.93, 0000 0000 F(p) DOOO (D)0 p0000000000000



p93, -1 000000 = 00000 (p700 (1i)00)0

o 70
p-103, OO OO €e1, €€, €€3 =  €1€1,€2€9,€3€3
p.105, 111 det J(x(¢,p))p, = det(I +tJ(F)p, ) = = det J(x(t,p))p, = det(I +tJ(F)p, +o(t)) =
p.105, -1.8 Q:a?+y?+22=1 = Q:2?2+y?+2251
p.106, 1.2 - = [((1+2y+22)= = - = [,(2+2y+22)=
p.108, L7 00O = OO0
080
p.113, 1.2 OO0 D0OODO0OODOOOO = QUoOoooooboood
p.114, 1.1 p=0 f 00 feC>Q)

= p=0 f 00 feC>(Q)
p.115, 1.9 AP(Q)0 C* 0000 = AP(Q) 0 C~(Q) 0000
p-115, -1.5 = (fig93 — fag2)dy Ndz + (fag1 — f1g3)dz Ndx + -

= = (fags — f3g2)dy Ndz + (fsg1 — frg3)dz Ndx + - -
p-117, -1.1 —dx Ady Ady = —drxAdzANdy
p-120 110 -+ -+ godfs Adx Ady = - -+ godfs ANdz ANdy

p-120

p-120
p-121
p-122

p-122
p-123
p.127

p-129

p-129
p-130
p-133

p-137

1.14,15 wAdw' = (fgdgg - fgdgg) N dy ANdz+ (fgdgl - fldg3) ANdz Ndx + (fldgz - fgdg1) Adz N\ dy
=  wAdw = (fadge — fadgs) Ndy A dz + (frdgs — fadgi) A dz A dz + (fadgr — fidge) A dx A dy

13 -+ dfs Adz+ fzd(dz)) = -+ (dfs Adz + f3d(dz))
115 00 (i) fdyAdz+dzAde+deNdy=... = fdyANdz—dzANde—dxANdy=...
112 0000 ¢*: A7(Q) — AP(U) 000000000

= 0000 ¢*:AP(Q) — AP(U) (p=0,1,2,3) 000000000
16 (1)00000000 = [1]00000000

L5 ¢*(dz) =d(z-¢)=--- = ¢ (dz)=d(z-p) ="

13 000000 = 00000000000000 @®60)000

dg2  Ogsz 0g2 Oga tr 092 0Ogs Og2 0Ogs
L1 rotG=| — — — =, — — tG= |- — - 2=, == =
ro [ dy 3z’3x’3x} ro [ 9y 92 0z oz
oh  Oh troh  Oh
1. H=|—,—— H= |— ——
6 rot [ay’ aw,O} = rot [ay’ o7’ }
L5 00000 f = 000009
of of of of of of
111 dgpf = —d —dy+ —d dspf = =——d —d —d
pf 6371 T 833‘2 y+ 81‘3 * = pf 633‘1 x1+8x2 $2+8I3 3
L.10 .. = cosg + (sin gb) i+ (sin gc) i+ (sin gd) k
= o= cos% + (bsing)i—&— (csing)j—i— (dsing) k

gbooobod od

ooo
goo
oono
2.10

0O 11 )z+2y+32=6 = = =
0 12 2+y+2=3 = @{Ha+ty+z=3, (ii)—z—-2y+2=-2, (li)z—y+2=5
O 1.9 (i) 5/V14 = (i) 5/V3

O (iii) 'y — 2,2 — 2,0 —yle™ v*t=2 =ty 20—z, 0 — yleTY v



4

250 0O (ili) divF =ye¥* + ze** + ze™ = divF = ye®¥ 4 zeV* + xe®”
ooOoo 2.1 (i) ~'~::|:\/47;I:g—f = ~~::|:2\/47x?
x x

oooo 2.2 %g(r(t)) = e"tY(cos(zy) — ysin(zy)) + 2te” ¥ (cos(zy) — wsin(xy)) = %g(r(t)) =

e" Y (cos(xy) — ysin(xy)) + 2te™ Y (cos(zy) — zsin(zy))|smt,y=tz = ettt ((1+ 2t) cost® — 3t*sint?)
2

Dooo 3.6 (i) —g = -

oood 42 (-, 05¢<2m) = (---,0260Z2m)

11
0000 44 (2,2,16) = (275,19)
0000 45 a) F'(a,be) = J(F)apbe

0000 55 (V2+loglr+vV1i+r2)r = (V2+log(l+v2))m

7 15
0000 56 () g7 = 2w
2
0oooo 5.7 ga% N ga?’bc

0000 6.3 (i) —4r = —16r



